Week 8: Study the dates of the Bible.  Examine Carbon-14 dating. Assignment 8: Write a summary of lecture notes.

Josephus (37 – c.100 AD), also Yoseph Ben Mattithyahu in Biblical Hebrew (Joseph son of Matthias) and Titus Flavius Josephus was a 1st-century Romano-Jewish historian and hagiographer of priestly and royal ancestry who recorded Jewish history, with special emphasis on the 1st century AD and the First Jewish–Roman War which resulted in the Destruction of Jerusalem in 70 AD.

He has been credited by many as recording some of the earliest history of Jesus Christ outside of the gospels, this being an item of contention among historians.

Josephus was a law-observant Jew who believed in the compatibility of Judaism and Graeco-Roman thought, commonly referred to as Hellenistic Judaism. His most important works were The Jewish War (c. 75 AD) and Antiquities of the Jews (c. 94 AD). The Jewish War recounts the Jewish revolt against Roman occupation (66–70). Antiquities of the Jews recounts the history of the world from a Jewish perspective for a Roman audience. These works provide valuable insight into 1st century Judaism and the background of Early Christianity.

Antiquities of the Jews (Antiquitates Judaicae in Latin) is a twenty volume historiographical work composed by the Jewish historian Flavius Josephus in the thirteenth year of the reign of Roman emperor Flavius Domitian which was around 93 or 94 AD.[1] Antiquities of the Jews contains an account of history of the Jewish people, written in Greek for Josephus' gentile patrons. In the first ten volumes, Josephus follows the events of the historical books of the Hebrew Bible beginning with the creation of Adam and Eve. The second ten volumes continue the history of the Jewish people beyond the biblical text and up to the Jewish War.

This work, along with Josephus's other major work, The Jewish Wars (Bellum Judaicum), provides valuable background material to historians wishing to understand 1st-century AD Judaism and the early Christian period. 

In the preface of Antiquities of the Jews, Josephus provides his motivation for composing such a large work. He writes:

“Now I have undertaken the present work, as thinking it will appear to all the Greeks worthy of their study; for it will contain all our antiquities, and the constitution of our government, as interpreted out of the Hebrew Scriptures.” 

Josephan scholar, Louis Feldman, highlights several of the misconceptions about the Jewish people that were being circulated in Josephus' time. In particular, the Jews were thought to lack great historical figures and a credible history of their people. They were also accused of harboring hostility toward non-Jews, and were thought to be generally lacking in loyalty, respect for authority, and charity.  With these harsh accusations against the Jews fluttering about the Roman Empire, Josephus, formerly Joseph ben Matthias, set out to provide a Hellenized version of the Jewish history. Such a work is often called an "apologia," as it pleads the case of a group of people or set of beliefs to a larger audience.

In order to accomplish this goal, Josephus omitted certain accounts in the Jewish narrative and even added a Hellenistic "glaze" to his work. For example, the "Song of the Sea" sung by Moses and the people of Israel after their deliverance at the Red Sea is completely omitted in Josephus' text.  He does mention, however, that Moses composed a song to God in hexameter—a rather unusual (and Greek) metrical scheme for an ancient Hebrew.  Josephus also writes that Abraham taught science to the Egyptians, who in turn taught the Greeks, and that Moses set up a senatorial priestly aristocracy, which like Rome resisted monarchy. Thus, in an attempt to make the Jewish history more palatable to his Greco-Roman audience, the great figures of the biblical stories are presented as ideal philosopher-leaders.

While his retelling of ancient Jewish history may be slightly skewed, Josephus' Judean Antiquities is a vital source for the history of the Inter-testamental period and the Jewish war against Rome. 

Josephus also adds a short account of his personal life, Vita, as an appendix to the Judean Antiquities.

约瑟夫（37 - c.100 AD）中，也Yoseph在本圣经希伯来文Mattithyahu（约瑟夫的儿子马蒂亚斯）和提图斯弗拉菲乌斯约瑟夫是第一世纪的罗马历史学家和犹太祭司和王室血统hagiographer谁记录犹太人的历史，具有特殊侧重于公元1世纪和第一犹太罗马战争，在公元70年在耶路撒冷造成破坏。
他已记入为记录外，许多的福音的耶稣基督的一些历史最早，这是一个争论的历史学家项目。
约瑟夫是一个法治细心的犹太人谁在犹太教和希腊罗马的兼容性相信思想，通常被称为希腊化犹太教。他最重要的作品是犹太战争（公元前75年）和犹太人（约公元94）古物。犹太战争叙述了犹太人起义反对罗马人占领（66-70）。古物的犹太人讲述了从罗马观众犹太人的角度看世界的历史。这些作品提供了宝贵的洞察第一世纪犹太教和早期基督教的背景。
古物的犹太人（拉丁AntiquitatesJudaicae）是二十卷史学工作的犹太历史学家约瑟夫组成弗拉菲乌斯在罗马统治皇帝弗拉菲乌斯多米提安其中约公元93或94。[1]古物的犹太人是第十三年载有在希腊的犹太人的书面约瑟夫'氏族顾客人民，历史的帐户。在第一十卷，约瑟夫遵循圣经的希伯来语的亚当与夏娃创立之初的历史书籍的事件。第二十卷继续超出圣经文本的犹太人民的历史和最多的犹太战争。
这项工作，与约瑟夫的其他主要工作，一直以来，犹太战争, 提供了宝贵的背景材料，以历史学家希望了解第一世纪的公元犹太教和早期基督教时期。
在对犹太人的古物前言，他撰写约瑟夫提供如此大的工作动力。他写道：
“现在我已承诺，目前的工作，因为我以为这会出现所有的希腊人，他们的研究值得，因为它包含所有的文物，以及我国政府的宪法，在希伯来圣经解释了。”约瑟夫学者，路易费尔德曼，突出了有关对被约瑟夫的时间分发一些犹太人民的误解。特别是，犹太人被认为是缺乏一个伟大的历史人物和他们的人民可信的历史。他们还被指控窝藏对非犹太人的敌意，被认为是一般的忠诚，尊重权威缺乏，慈善机构。随着飞舞的关于犹太人对这些苛刻的指责罗马帝国，约瑟夫，前约瑟夫本马蒂亚斯，设置，以提供一个希腊化的犹太人的历史版本。这样的工作通常被称为“纵容”，因为它恳求的一组人案件或信仰设置为更多的观众。
为了实现这一目标，约瑟夫在犹太人叙事省略某些帐户，甚至加入了希腊“釉”，以他的工作。例如，由摩西唱“海之歌”，之后他们在红海的解脱以色列人民是完全省略约瑟夫'的文字。他没有提到，但是，摩西组成的一首歌曲，神六步，一个相当不寻常（和希腊）的一个古老的希伯来格律计划。约瑟夫还写道，亚伯拉罕教科学的埃及人，谁反过来教希腊人和摩西成立一个参议院祭司贵族，就像罗马抵制君主制。因此，企图使犹太人的历史，他更得人心希腊罗马的观众，在圣经故事中的伟大人物被作为理想的哲学家领导人。
虽然他的复述古犹太人的历史可能会稍有偏斜，约瑟夫'朱迪亚古物是一个历史时期的两约间和反对罗马犹太战争的重要来源。
约瑟夫还增加了他的个人生活，维塔短帐户，作为对犹太古物附录。
	Reference
	From:
	To:
	Years Between
	Yrs Since the Beginning
	Gregorian

Date

	Gen 1:1,27,31
	The Beginning 
	Adam
	6 Days
	6 Days
	4004 BC

	Gen 5:3
	Adam
	Seth
	130
	130 
	3874 BC

	Gen 5:6
	Seth
	Enos
	105
	235 
	3769 BC

	Gen 5:9
	Enos
	Cainan
	90
	325 
	3679 BC

	Gen 5:12
	Cainan
	Mahalaleel
	70
	395 
	3609 BC

	Gen 5:15
	Mahalaleel
	Jared
	65
	460 
	3544 BC

	Gen 5:18
	Jared
	Enoch
	162
	622 
	3382 BC

	Gen 5:21
	Enoch
	Methuselah
	65
	687
	3317 BC

	Gen 5:25
	Methuselah
	Lamech
	187
	874
	3130 BC

	Gen 5:28-29a
	Lamech
	Noah
	182
	1056
	2948 BC

	Gen 7:6; 8:13
	Noah
	Flood
	600
	1656
	2348 BC

	Gen 11:10
	Flood
	Arphaxad
	2
	1658
	2346 BC

	Gen 11:12
	Arphaxad
	Salah
	35
	1693
	2311 BC

	Gen 11:14
	Salah
	Eber
	30
	1723
	2281 BC

	Gen 11:16
	Eber
	Peleg
	34
	1757
	2247 BC

	Gen 11:18
	Peleg
	Reu
	30
	1787
	2217 BC

	Gen 11:20
	Reu
	Serug
	32
	1819
	2185 BC

	Gen 11:22
	Serug
	Nahor
	30
	1849
	2155 BC

	Gen 11:24
	Nahor
	Terah
	29
	1878
	2126 BC

	Gen 11:26,32;                12:1,4;  Acts 7:4
	Terah
	Abraham
	130
	2008
	1996 BC

	Gen 12: 4,5
	Abraham
	Moved from                     Haran to Cainan
	75
	2083
	1921 BC

	Gen 12:6-10;                    Exod 12:40; Gal 3:17
	Moved from                      Haran to Cainan
	Exodus & the Law
	430
	2513
	1491 BC

	1 Kings 6:1
	Exodus & the Law
	Start of Temple
	479
	2992
	1012 BC

	1 Kings 11:42
	Start of Temple
	Division of Kingdom
	37
	3029
	975 BC

	Ezek 4:4-6
	Division of Kingdom
	*Destruction of Jerusalem
	389
	3418
	*586 BC

	Gregorian Calendar
	*Destruction of Jerusalem
	BC/AD Division
	586
	4004
	0 or

start of 1 AD

	Gregorian Calendar
	BC/AD Division
	 Present Date
	2010
	6014
	2010 AD


*Note: The fixed anchor point is 586 B.C for the destruction of Jerusalem and Solomon’s Temple.  This date synchronizes Biblical and secular history.  “Five lunar eclipses, the tombstone inscription of Belshazzar’s grandmother (Jones, pp. 194, 238), along with about 30 verified observations of the moon and the then five known planets made in Nebuchadnezzar’s 37th year – all occurring within the 130 year span from 621 to 491 BC. (Jones, pp. 238-239) – absolutely fix 586 BC as the year of the fall of Jerusalem.  This perfectly fits with the numerical values preserved in slightly over 100 Bible verses (Jones, p. 310).  Solomon’s Temple was dedicated in 1004 BC, the 3000th year after Creation (Jones, p. 279).  Our Lord was born in the 4000th year after the universe was created (Jones, pp. 256, 280).”  Jesus’ birth was not at the start of 1 AD.  It was actually 4 BC.  The Calendar is off by four years due to a miscalculation.  “In AD 525 Pope John I commissioned Dionysius Exiguus the Little, a Roman abbot, to prepare a standard calendar… He calculated…the birth of Christ about 4 years after the fact (i.e. too late).” (Jones, p. 208) 
References from:  Dr. Floyd Nolen Jones, The Chronology of the Old Testament, Master Books: 2009 edition.

You can calculate how long ago the universe was created by adding 4004 to the current calendar year.

4004 + Current Year = Age of Universe
(下面中文使用谷歌翻译。需要修正和编辑。)
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创11:18
法勒根
拉吴

30 
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2008 
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75

1921

公元前2083 
创12:6-10; 出12:40;加拉太3:17从哈兰移动到彩南
出埃及记与法律430 2513 

公元前1491 
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479 
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公元前1012 
1王11:42开始寺
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37
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公元前975
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王国销 *耶路撒冷毁389 
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公历*耶路撒冷破坏
公元前/公元586

4004 

0或开始公元1 
公历公元前/ 


2010
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2010年公元

*注：固定锚点是耶路撒冷和所罗门圣殿被毁公元前586年。此日期同步圣经和世俗的历史。 “五月食，在伯沙撒的祖母墓碑碑文（琼斯，第194，238）以及约30验证观测月亮，然后五个著名的尼布甲尼撒的37年取得的行星 - 都发生在130年跨度从公元前621至491。（琼斯，第238-239） - 完全修复586作为今年秋季耶路撒冷公元前。这完全符合在略高于100经文（琼斯，第310页）保存的数值。所罗门圣殿是献给在1004年，创建后第三千年（琼斯，第279页）。我们的主是在第四千年以后出生的宇宙诞生（琼斯，第256，280）。“耶稣的诞生是不是在公元1开始。它实际上是4年。日历是关闭的四年因计算错误。 “在公元525教皇约翰委托我狄奥尼修斯exiguus小，罗马住持，准备计算标准的日历... ...他的基督事后约4年（即太晚）的诞生。”（琼斯，第208页） 
引用自：弗洛伊德诺伦琼斯博士，在旧约，硕士书年表：2009年版。 

你可以计算出宇宙是不久前加入到目前的4004日历年创建的。 
= 4004 +本年度宇宙年龄 
	Reference
	From
	To
	Years Between
	Years Since Beginning
	Gregorian Date

	Genesis 1:1,27,31
	The Beginning 
	Adam (man)
	6 days
	Day 6 of Year 1
	4004 BC

	1.  In the beginning God created the heaven and the earth.                                                                                                                                                    27.  So God created man in His own image; in the image of God He created them; male and female He created them.                                          31.  And God saw everything that was made, and behold it was very good.  And the evening and the morning were the sixth day.

	5:3
	Adam
	Seth
	130 
	130 
	3874 BC

	And Adam lived an hundred and thirty years, and begat a son in his own likeness, and after his image; and called his name Seth:

	5:6
	Seth
	Enos
	105 
	235 
	3769 BC

	And Seth lived an hundred and five years, and begat Enos:

	5:9
	Enos
	Cainan
	90
	325 
	3679 BC

	And Enos lived ninety years, and begat Cainan:

	5:12
	Cainan
	Mahalaleel
	70 
	395 
	3609 BC

	And Cainan lived seventy years and begat Mahalaleel:

	5:15
	Mahalaleel
	Jared
	65 
	460 
	3544 BC

	And Mahalaleel lived sixty and five years, and begat Jared:

	5:18
	Jared
	Enoch
	162 
	622 
	3382 BC 

	And Jared lived an hundred sixty and two years, and he begat Enoch:

	5:21
	Enoch
	Methuselah
	65 
	687
	3317 BC

	And Enoch lived sixty and five years, and begat Methuselah:

	5:25
	Methuselah
	Lamech
	187
	874 
	3130 BC

	And Methuselah lived an hundred eighty and seven years, and begat Lamech.

	5:28-29a
	Lamech
	Noah
	182
	1056 
	2948 BC

	And Lamech lived an hundred eighty and two years, and begat a son: And he called his name Noah…

	7:6
	Noah
	Flood
	600 
	1656 
	2348 BC

	Now Noah was six hundred years old when the flood of water was upon the earth.

	11:10
	Flood
	Arphaxad
	2 
	1658 
	2346 BC

	These are the generations of Shem: Shem was an hundred years old, and begat Arphaxad two years after the flood

	11:12
	Arphaxad
	Salah
	35 
	1693 
	2311 BC

	And Arphaxad lived five and thirty years, and begat Salah:

	11:14
	Salah
	Eber
	30 
	1723 
	2281 BC

	And Salah lived thirty years, and begat Eber:

	11:16
	Eber
	Peleg
	34
	1757 
	2247 BC

	And Eber lived four and thirty years, and begat Peleg:

	11:18
	Peleg
	Reu
	30 
	1787 
	2217 BC 

	And Peleg lived thirty years, and begat Reu:

	11:20
	Reu
	Serug
	32 
	1819 
	2185 BC

	And Reu lived two and thirty years, and begat Serug:

	11:22
	Serug
	Nahor
	30 
	1849 
	2155 BC

	And Serug lived thirty years, and begat Nahor:

	11:24
	Nahor
	Terah
	29 
	1878 
	2126 BC

	And Nahor lived nine and twenty years, and begat Terah:

	Genesis 11:32;12:1,4

 Acts 7:4
	Terah
	Abraham
	130 
	2008 
	1996 BC

	Genesis 11:32 And the days of Terah were two hundred and five years: and Terah died in Haran. 12:1 Now the LORD had said unto Abram, Get thee out of thy country, and from thy kindred, and from thy father's house, unto a land that I will shew thee:   Genesis 12:4  So Abram departed, as the LORD had spoken unto him; and Lot went with him: and Abram [was] seventy and five years old when he departed out of Haran.

Acts 7:4 Then came he out of the land of the Chaldaeans, and dwelt in Charran (or Haran): and from thence, when his father was dead, he removed him into this land, wherein ye now dwell,

Summary:  Terah was 205 when Abram was 75, so Terah was 130 at Abram’s birth;  205 – 75 = 130


Continued on back 

Continued from front

	Gen 12:4-5
	Abraham
	Moved from Haran 

to Cainan
	75 
	2083 
	1922 BC

	4.  So Abram departed, as the LORD had spoken unto him; and Lot went with him:  and Abram [was] seventy and five years old when he departed out of Haran.

5. And … went forth to go into the land of Canaan; and into the land of Canaan they came.

	Gen 12:10, Ex 12:40, Gal 3:17
	Moved from Haran 

to Cainan
	Exodus & the Law
	430 
	2513 
	1491 BC

	Genesis 12:10 And there was a famine in the land: and Abram went down into Egypt to sojourn there; for the famine [was] grievous in the land. 

Exodus 12:40 Now the sojourning of the children of Israel, who dwelt in Egypt, [was] four hundred and thirty years. Note: All Israel was in Abraham when he first sojourned to Egypt.

Galatians 3:17  And this I say, [that] the covenant, that was confirmed before of God in Christ, the law, which was four hundred and thirty years after, cannot disannul, that it should make the promise of none effect.

	1 Kings 6:1
	Exodus & the Law
	Start of Temple
	479
	2992
	1015 BC

	And it came to pass in the four hundred and eightieth year (or after 479 years: inductive counting*) after the children of Israel were come out of the land of Egypt, in the fourth year of Solomon's reign over Israel, in the month Zif, which [is] the second month, that he began to build the house of the LORD. 

	1 Kings 6:1; 11:42; 12:all 
	Start of Temple 
	Division of the Kingdom
	37 
	3029 
	975 BC

	6:1  And it came to pass in the four hundred and eightieth year  after the children of Israel were come out of the land of Egypt, in the fourth year (or after 3 years: inductive counting*) of Solomon's reign over Israel, in the month Zif, which [is] the second month, that he began to build the house of the LORD.  

11:42   And the time that Solomon reigned in Jerusalem over all Israel [was] forty years. 40-3=37  

12:all   This Chapter shows that the Solomon’s Kingdom split right after he died, thus equating Solomon’s death with the Division of the Kingdom.

	Ezekiel 4:4-6
	Division of the Kingdom
	Destruction of Jerusalem & Temple
	389 
	3418 
	586 BC

	4.  Lie thou also upon thy left side, and lay the iniquity of the house of Israel upon it: [according] to the number of the days that thou shalt lie upon it thou shalt bear their iniquity.  

5.  For I have laid upon thee the years of their iniquity, according to the number of the days, three hundred and ninety days: so shalt thou bear the iniquity of the house of Israel.  

6.  And when thou hast accomplished them, lie again on thy right side, and thou shalt bear the iniquity of the house of Judah forty days: I have appointed thee each day for a year. 

Note:  Israel had been in sinful rebellion for 390 years:  “…the house of Israel, the ten tribes, had borne 390 years (inductively counted* as 389 years), reckoning from their first apostasy under Jeroboam to the destruction of Jerusalem…” Matthew Henry

	Gregorian Calendar
	Destruction of Jerusalem & Temple
	BC/AD Division Date
	586 
	4004 
	0 or the start of 
1 AD

	The fixed anchor point is 586 B.C for the destruction of Jerusalem and Solomon’s Temple.  This date synchronizes Biblical and secular history.  “Five lunar eclipses, the tombstone inscription of Belshazzar’s grandmother (Jones, pp. 194, 238), along with about 30 verified observations of the moon and the then five known planets made in Nebuchadnezzar’s 37th year – all occurring within the 130 year span from 621 to 491 BC. (Jones, pp. 238-239) – absolutely fix 586 BC as the year of the fall of Jerusalem.  This perfectly fits with the numerical values preserved in slightly over 100 Bible verses (Jones, p. 310).  Solomon’s Temple was dedicated in 1004 BC, the 3000th year after Creation (Jones, p. 279).  Our Lord was born in the 4000th year after the universe was created (Jones, pp. 256, 280).”  Jesus’ birth was not at the start of 1 AD.  It was actually 4 BC.  The Calendar is off by four years due to a miscalculation.  “In AD 525 Pope John I commissioned Dionysius Exiguus the Little, a Roman abbot, to prepare a standard calendar…He calculated…the birth of Christ about 4 years after the fact (i.e. too late).” (Jones, p. 208)                        Reference:  Dr. Floyd Nolen Jones, The Chronology of the Old Testament, Master Books: 2009 edition.

	Gregorian Calendar
	BC/AD Division Date
	Last Complete Year
	2009 
	6013 
	2009 AD

	To calculate how long ago the universe was created add 4004 to the last calendar year completed (Inductive counting*).

Formula:  Last Complete Year + 4004 = Present Age of Universe


*Inductive counting results in one less than the number of years sighted.  Example: a child in his second (but incomplete) year is counted as a one-year-old. Only a complete year is counted. 

Tract is based on and inspired by:                                                                                                                                                                                  1.  Witnessing Materials of Brand Adams, and Bill Morgan.    

                                                                                                                          2.  Annals of the World, by Arch Bishop James Ussher Translated by Larry Pierce. 





    3.  The Chronology of the Old Testament by Dr. Floyd Nolen Jones.

(下面中文使用谷歌翻译。需要修正和编辑。)
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从
至   

之间

自从开始

阳历日期 
创1:1,27,31开始 

亚当

6天
  
6天
  
公元前4004年 
1。起初，神创造了天地。 27。于是，上帝创造了他自己的形像造人，在神的形象，他创造了他们，男性和女性，他创造了他们。 31。神看着一切，所造的都甚好。有晚上，有早晨，是第六日。
创5:3

亚当

塞特

130 

130 

公元前3874 
亚当活到一百三十岁，生了自己的肖像，他的儿子，经过他的形象，以及他的名字叫赛斯：
创5:6

塞特

以挪士
105 

235 

公元前3769 
塞特活到一百零五岁，生了以挪士：
创5:9

以挪士
该南

90 

325 

公元前3679 
以挪士活到九十岁，生了该南：
创5:12
该南

玛勒列
70 

395 

公元前3609 
该南活到七十岁，生了玛勒列：
创5:15
玛勒列
贾里德
65 

460 

公元前3544 
和玛勒列活到六十五岁，生了贾里德：
创5:18
贾里德
以诺

162 

622 

公元前3382 
雅列活到一百六十二岁，生了以诺：
创5:21
以诺

玛土撒拉
65 

687 

公元前3317 
以诺活到六十五岁，生了玛土撒拉：
创5:25
玛土撒拉
拉麦

187 

874 

公元前3130 
和玛土撒拉活到一百八十七岁，生了拉麦。
创5:28-29A拉麦

挪亚

182

1056 

公元前2948 
拉麦活到一百八十二岁，生了一个儿子：他叫他的名字，诺亚...
创7:6; 8:13挪亚

洪水

600 

1656 

公元前2348 
现在，挪亚整六百岁的时候，水的洪水泛滥在地上了。
创11:10
洪水

亚法撒
2

1658 

公元前2346 
这些都是闪的后代：闪是百岁生了亚法撒洪水后两年
创11:12
亚法撒
沙拉

35 

1693 

公元前2311 
乌斯活到三十五岁，生了沙拉：
创11:14
沙拉

希伯

30 

1723

公元前2281 
和Salah活到三十岁，生了希伯：
创11:16
希伯

法勒根
34

1757

公元前2247 
希伯活到三十岁，生了法勒：
创11:18
法勒根
拉吴

30 

1787

公元前2217 
雅列活到一百六十二岁，生了以诺：
创11:20
拉吴

西鹿根
32

1819

公元前2185 
拉吴活到三十二岁，生了西鹿：
创11:22
西鹿根
拿鹤

30

1849

公元前2155 
而西鹿活到三十岁，生了拿鹤：
创11:24
拿鹤

他拉

29 

1878 

公元前2126 
拿鹤活到二十九岁，生了他拉：
创11:26,32;12:1,4;徒7:4他拉亚伯拉罕130 
2008 

公元前1996 
创世记11:32和他拉的日子二○五年：和他拉就死在哈兰。 12:1现在耶和华对亚伯兰说，你找你出的国家，从你的亲人，从你父亲的家，往一块乐土，我会指示你：创世记12:4亚伯兰就离开了，正如耶和华讲给他和他同去地段：和亚伯兰[是]七十五岁时就离开了哈兰。
徒7:4于是，他走出来的迦勒底人之地，住在哈兰（或哈兰）：从那里，当他的父亲死了，他把他的这片土地，其中，你们现在所住，
摘要：当他拉了205亚伯兰75岁，所以他拉是在亚伯兰出生130; 205 - 75 = 130

创12：4,5亚伯拉罕从哈兰至彩南
75

1921

公元前2083 
4。亚伯兰就离开了，正如耶和华晓谕他，和他同去地段：和亚伯兰[是]七十五岁时就离开了哈兰。
5。还有...出去进入迦南地，进入迦南地，他们来了。
将军12:10，12:40前，半乳糖3:17已从哈兰
创12:6-10; 出12:40;加拉太3:17从哈兰移动到彩南
出埃及记与法律430 2513 

公元前1491 
1王6:1出埃及记
开始寺法

479 

2992 

公元前1012 
1王11:42开始寺
王国销

37

3029 

公元前975
创世记12:10，有一对土地饥荒：，亚伯兰就下埃及，在那里寄居;为饥荒[是]在土地严重。
出埃及记12:40现在的以色列人，谁住在旅居埃及，[是]四三○年。注：所有以色列在亚伯拉罕当他第一次到埃及寄居。
加拉太书3:17我是这么说，[是]该公约，这是神在基督之前，法律，这四三○年后的时候，不能disannul证实，它应使无效果的承诺。
6:1它来在第四百八十○年通过后，以色列人走出埃及地在第四年（或3年后：感应计数*）所罗门在以色列之上，统治，在本月的ZIF，这[是]第二个月，他开始建造耶和华的殿。
11:42，但时间所罗门在耶路撒冷作以色列[是]第四年。 40-3 = 37
12：所有本章表明，所罗门的王国分裂之后，他死了，从而等同所罗门与王国部死亡。
以西结书4:4-6科耶路撒冷和圣殿389 3418公元前586王国的覆灭

以西结4:4-6
王国销 *耶路撒冷毁389 
3418 

*公元前586 
4。你在你的谎言左侧也奠定了它在以色列家的罪孽：[根据]到的日数，你要躺在你要它承担他们的罪孽。
5。因为我已定为你的罪孽之年，根据的日数，三九零天：所以你要承担的以色列家的罪孽。
6。当你所完成的这些日子，再次你右边，你要承担的犹太四十天家的罪孽：我已任命你一年的每一天。
注：以色列已在罪孽深重的叛乱390年：“...以色列，十部落，房子已经承担三九〇年（电感算作三八九年*），从他们第一次在耶罗波安叛教清算耶路撒冷的毁灭...”马修亨利
公历销毁耶路撒冷和圣殿公元前/公元4004 0 586司日期或开始
公元1

公历*耶路撒冷破坏
公元前/公元586

4004 

0或开始公元1 
公历公元前/ 


2010


6014 

2010年公元

*注：固定锚点是耶路撒冷和所罗门圣殿被毁公元前586年。此日期同步圣经和世俗的历史。 “五月食，在伯沙撒的祖母墓碑碑文（琼斯，第194，238）以及约30验证观测月亮，然后五个著名的尼布甲尼撒的37年取得的行星 - 都发生在130年跨度从公元前621至491。（琼斯，第238-239） - 完全修复586作为今年秋季耶路撒冷公元前。这完全符合在略高于100经文（琼斯，第310页）保存的数值。所罗门圣殿是献给在1004年，创建后第三千年（琼斯，第279页）。我们的主是在第四千年以后出生的宇宙诞生（琼斯，第256，280）。“耶稣的诞生是不是在公元1开始。它实际上是4年。日历是关闭的四年因计算错误。 “在公元525教皇约翰委托我狄奥尼修斯exiguus小，罗马住持，准备计算标准的日历... ...他的基督事后约4年（即太晚）的诞生。”（琼斯，第208页） 
引用自：弗洛伊德诺伦琼斯博士，在旧约，硕士书年表：2009年版。 

你可以计算出宇宙是不久前加入到目前的4004日历年创建的。 
= 4004 +本年度宇宙年龄 
固定锚点是耶路撒冷和所罗门圣殿被毁公元前586年。此日期同步圣经和世俗的历史。“五月食，在伯沙撒的祖母墓碑碑文（琼斯，第194，238）以及约30验证观测月亮，然后五个著名的尼布甲尼撒的37年取得的行星 - 都发生在130年跨度从公元前621至491。（琼斯，第238-239） - 完全修复586作为今年秋季耶路撒冷公元前。这完全符合在略高于100经文（琼斯，第310页）保存的数值。所罗门圣殿是献给在1004年，创建后第三千年（琼斯，第279页）。我们的主是在第四千年以后出生的宇宙诞生（琼斯，第256，280）。“耶稣的诞生是不是在公元1开始。它实际上是4年。日历是关闭的四年因计算错误。 “在公元525教皇约翰委托我狄奥尼修斯exiguus小，罗马住持，准备计算标准的日历... ...他的基督事后约4年（即太晚）的诞生。”（琼斯，第208页）参考：弗洛伊德诺伦琼斯博士，在旧约，硕士书年表：2009年版。
公历公元前/广告部日期最后一个完整年份2009 6013 2009广告
为了计算多久以前的宇宙诞生新增4004日历年的最后完成（感应计数*）。
公式：最后一个完整年份+ 4004 =宇宙当代
*感应点票结果在一个有远见的年比人数少。例如：在他的第二个（但不完全）儿童每年为一岁计算。只有完整的一年计算。
道是基于并启发：1。见证品牌亚当斯和比尔摩根材料。 2。在世界历史的拱主教詹姆斯，Ussher译拉里皮尔斯。 3。由弗洛伊德诺伦博士琼斯年表旧约
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Scientists use a technique called radiometric dating to estimate the ages of rocks, fossils, and the earth. Many people have been led to believe that radiometric dating methods have proved the earth to be billions of years old. This has caused many in the church to reevaluate the biblical creation account, specifically the meaning of the word “day” in Genesis 1. With our focus on one particular form of radiometric dating—carbon dating—we will see that carbon dating strongly supports a young earth. Note that, contrary to a popular misconception, carbon dating is not used to date rocks at millions of years old.
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Before we get into the details of how radiometric dating methods are used, we need to review some preliminary concepts from chemistry. Recall that atoms are the basic building blocks of matter. Atoms are made up of much smaller particles called protons, neutrons, and electrons. Protons and neutrons make up the center (nucleus) of the atom, and electrons form shells around the nucleus.

The number of protons in the nucleus of an atom determines the element. For example, all carbon atoms have 6 protons, all atoms of nitrogen have 7 protons, and all oxygen atoms have 8 protons. The number of neutrons in the nucleus can vary in any given type of atom. So, a carbon atom might have six neutrons, or seven, or possibly eight—but it would always have six protons. An “isotope” is any of several different forms of an element, each having different numbers of neutrons. The illustration below shows the three isotopes of carbon.

Some isotopes of certain elements are unstable; they can spontaneously change into another kind of atom in a process called “radioactive decay.” Since this process presently happens at a known measured rate, scientists attempt to use it like a “clock” to tell how long ago a rock or fossil formed. There are two main applications for radiometric dating. One is for potentially datingfossils (once-living things) using carbon-14 dating, and the other is for dating rocks and the age of the earth using uranium, potassium and other radioactive atoms.
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The atomic number corresponds to the number of protons in an atom. Atomic mass is a combination of the number of protons and neutrons in the nucleus. (The electrons are so much lighter that they do not contribute significantly to the mass of an atom.)

Carbon-14 Dating

Carbon-14 (14C), also referred to as radiocarbon, is claimed to be a reliable dating method for determining the age of fossils up to 50,000 to 60,000 years. If this claim is true, the biblical account of a young earth (about 6,000 years) is in question, since 14C dates of tens of thousands of years are common.1
When a scientist’s interpretation of data does not match the clear meaning of the text in the Bible, we should never reinterpret the Bible. God knows just what He meant to say, and His understanding of science is infallible, whereas ours is fallible. So we should never think it necessary to modify His Word. Genesis 1 defines the days of creation to be literal days (a number with the word “day” always means a normal day in the Old Testament, and the phrase “evening and morning” further defines the days as literal days). Since the Bible is the inspired Word of God, we should examine the validity of the standard interpretation of 14C dating by asking several questions:

1. Is the explanation of the data derived from empirical, observational science, or an interpretation of past events (historical science)?

2. Are there any assumptions involved in the dating method?

3. Are the dates provided by 14C dating consistent with what we observe?

4. Do all scientists accept the 14C dating method as reliable and accurate?

All radiometric dating methods use scientific procedures in the present to interpret what has happened in the past. The procedures used are not necessarily in question. The interpretation of past events is in question. The secular (evolutionary) worldview interprets the universe and world to be billions of years old. The Bible teaches a young universe and earth. Which worldview does science support? Can carbon-14 dating help solve the mystery of which worldview is more accurate?
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The use of carbon-14 dating is often misunderstood. Carbon-14 is mostly used to date once-living things (organic material). It cannot be used directly to date rocks; however, it can potentially be used to put time constraints on some inorganic material such as diamonds (diamonds could contain carbon-14). Because of the rapid rate of decay of 14C, it can only give dates in the thousands-of-year range and not millions.

There are three different naturally occurring varieties (isotopes) of carbon: 12C, 13C, and 14C.

Carbon-14 is used for dating because it is unstable (radioactive), whereas 12C and 13C are stable. Radioactive means that 14C will decay (emit radiation) over time and become a different element. During this process (called “beta decay”) a neutron in the 14C atom will be converted into a proton. By losing one neutron and gaining one proton, 14C is changed into nitrogen-14 (14N = 7 protons and 7 neutrons).
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If 14C is constantly decaying, will the earth eventually run out of 14C? The answer is no. Carbon-14 is constantly being added to the atmosphere. Cosmic rays from outer space, which contain high levels of energy, bombard the earth’s upper atmosphere. These cosmic rays collide with atoms in the atmosphere and can cause them to come apart. Neutrons that come from these fragmented atoms collide with 14N atoms (the atmosphere is made mostly of nitrogen and oxygen) and convert them into 14C atoms (a proton changes into a neutron).

Once 14C is produced, it combines with oxygen in the atmosphere (12C behaves like 14C and also combines with oxygen) to form carbon dioxide (CO2). Because CO2 gets incorporated into plants (which means the food we eat contains 14C and 12C), all living things should have the same ratio of 14C and 12C in them as in the air we breathe.

How the Carbon-14 Dating Process Works

Once a living thing dies, the dating process begins. As long as an organism is alive it will continue to take in14C; however, when it dies, it will stop. Since 14C is radioactive (decays into 14N), the amount of 14C in a dead organism gets less and less over time. Therefore, part of the dating process involves measuring the amount of 14C that remains after some has been lost (decayed). Scientists now use a device called an “Accelerator Mass Spectrometer” (AMS) to determine the ratio of 14C to 12C, which increases the assumed accuracy to about 80,000 years. In order to actually do the dating, other things need to be known. Two such things include the following questions:

1. How fast does 14C decay?

2. What was the starting amount of 14C in the creature when it died?

The decay rate of radioactive elements is described in terms of half-life. The half-life of an atom is the amount of time it takes for half of the atoms in a sample to decay. The half-life of 14C is 5,730 years. For example, a jar starting with all 14C atoms at time zero will contain half 14C atoms and half 14N atoms at the end of 5,730 years (one half-life). At the end of 11,460 years (two half-lives) the jar will contain one-quarter 14C atoms and three-quarter 14N atoms.

Since the half-life of 14C is known (how fast it decays), the only part left to determine is the starting amount of 14C in a fossil. If scientists know the original amount of 14C in a creature when it died, they can measure the current amount and then calculate how many half-lives have passed.
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Since no one was there to measure the amount of14C when a creature died, scientists need to find a method to determine how much 14C has decayed. To do this, scientists use the main isotope of carbon, called carbon-12 (12C). Because 12C is a stable isotope of carbon, it will remain constant; however, the amount of 14C will decrease after a creature dies. All living things take in carbon (14C and 12C) from eating and breathing. Therefore, the ratio of14C to 12C in living creatures will be the same as in the atmosphere. This ratio turns out to be about one 14C atom for every 1 trillion 12C atoms. Scientists can use this ratio to help determine the starting amount of 14C.

When an organism dies, this ratio (1 to 1 trillion) will begin to change. The amount of 12C will remain constant, but the amount of 14C will become less and less. The smaller the ratio, the longer the organism has been dead. The following illustration demonstrates how the age is estimated using this ratio.

	Percent 14C Remaining
	Percent 12C Remaining
	Ratio
	Number of Half-Lives
	Years Dead(Age of Fossil)

	100
	100
	1 to 1T
	0
	0

	50
	100
	1 to 2T
	1
	5,730

	25
	100
	1 to 4T
	2
	11,460

	12.5
	100
	1 to 8T
	3
	17,190

	6.25
	100
	1 to 16T
	4
	22,920

	3.125
	100
	1 to 32T
	5
	28,650


T = Trillion

A Critical Assumption

A critical assumption used in carbon-14 dating has to do with this ratio. It is assumed that the ratio of 14C to 12C in the atmosphere has always been the same as it is today (1 to 1 trillion). If this assumption is true, then the AMS 14C dating method is valid up to about 80,000 years. Beyond this number, the instruments scientists use would not be able to detect enough remaining 14C to be useful in age estimates. This is a critical assumption in the dating process. If this assumption is not true, then the method will give incorrect dates. What could cause this ratio to change? If the production rate of 14C in the atmosphere is not equal to the removal rate (mostly through decay), this ratio will change. In other words, the amount of 14C being produced in the atmosphere must equal the amount being removed to be in a steady state (also called “equilibrium”). If this is not true, the ratio of 14C to 12C is not a constant, which would make knowing the starting amount of 14C in a specimen difficult or impossible to accurately determine.

Dr. Willard Libby, the founder of the carbon-14 dating method, assumed this ratio to be constant. His reasoning was based on a belief in evolution, which assumes the earth must be billions of years old. Assumptions in the scientific community are extremely important. If the starting assumption is false, all the calculations based on that assumption might be correct but still give a wrong conclusion.

In Dr. Libby’s original work, he noted that the atmosphere did not appear to be in equilibrium. This was a troubling idea for Dr. Libby since he believed the world was billions of years old and enough time had passed to achieve equilibrium. Dr. Libby’s calculations showed that if the earth started with no 14C in the atmosphere, it would take up to 30,000 years to build up to a steady state (equilibrium).

If the cosmic radiation has remained at its present intensity for 20,000 or 30,000 years, and if the carbon reservoir has not changed appreciably in this time, then there exists at the present time a complete balance between the rate of disintegration of radiocarbon atoms and the rate of assimilation of new radiocarbon atoms for all material in the life-cycle.2
Dr. Libby chose to ignore this discrepancy (nonequilibrium state), and he attributed it to experimental error. However, the discrepancy has turned out to be very real. The ratio of 14C /12C is not constant.

The Specific Production Rate (SPR) of C-14 is known to be 18.8 atoms per gram of total carbon per minute. The Specific Decay Rate (SDR) is known to be only 16.1 disintegrations per gram per minute.3
What does this mean? If it takes about 30,000 years to reach equilibrium and 14C is still out of equilibrium, then maybe the earth is not very old.

Magnetic Field of the Earth

Other factors can affect the production rate of 14C in the atmosphere. The earth has a magnetic field around it which helps protect us from harmful radiation from outer space. This magnetic field is decaying (getting weaker). The stronger the field is around the earth, the fewer the number of cosmic rays that are able to reach the atmosphere. This would result in a smaller production of14C in the atmosphere in earth’s past.

The cause for the long term variation of the C-14 level is not known. The variation is certainly partially the result of a change in the cosmic ray production rate of radiocarbon. The cosmic-ray flux, and hence the production rate of C-14, is a function not only of the solar activity but also of the magnetic dipole moment of the Earth.4
Though complex, this history of the earth’s magnetic field agrees with Barnes’ basic hypothesis, that the field has always freely decayed.... The field has always been losing energy despite its variations, so it cannot be more than 10,000 years old.5
Earth’s magnetic field is fading. Today it is about 10 percent weaker than it was when German mathematician Carl Friedrich Gauss started keeping tabs on it in 1845, scientists say.6
If the production rate of 14C in the atmosphere was less in the past, dates given using the carbon-14 method would incorrectly assume that more 14C had decayed out of a specimen than what has actually occurred. This would result in giving older dates than the true age.

Genesis Flood

What role might the Genesis Flood have played in the amount of carbon? The Flood would have buried large amounts of carbon from living organisms (plant and animal) to form today’s fossil fuels (coal, oil, etc.). The amount of fossil fuels indicates there must have been a vastly larger quantity of vegetation in existence prior to the Flood than exists today. This means that the biosphere just prior to the Flood might have had 500 times more carbon in living organisms than today. This would further dilute the amount of 14C and cause the 14C/12C ratio to be much smaller than today.

If that were the case, and this C-14 were distributed uniformly throughout the biosphere, and the total amount of biosphere C were, for example, 500 times that of today’s world, the resulting C-14/C-12 ratio would be 1/500 of today’s level....7
When the Flood is taken into account along with the decay of the magnetic field, it is reasonable to believe that the assumption of equilibrium is a false assumption.

Because of this false assumption, any age estimates using 14C prior to the Flood will give much older dates than the true age. Pre-Flood material would be dated at perhaps ten times the true age.

The RATE Group Findings

In 1997 an eight-year research project was started to investigate the age of the earth. The group was called the RATE group (Radioisotopes and the Age of The Earth). The team of scientists included:

· Larry Vardiman, PhD Atmospheric Science

· Russell Humphreys, PhD Physics

· Eugene Chaffin, PhD Physics

· John Baumgardner, PhD Geophysics

· Donald DeYoung, PhD Physics

· Steven Austin, PhD Geology

· Andrew Snelling, PhD Geology

· Steven Boyd, PhD Hebraic and Cognate Studies

The objective was to gather data commonly ignored or censored by evolutionary standards of dating. The scientists reviewed the assumptions and procedures used in estimating the ages of rocks and fossils. The results of the carbon-14 dating demonstrated serious problems for long geologic ages. For example, a series of fossilized wood samples that conventionally have been dated according to their host strata to be from Tertiary to Permian (40-250 million years old) all yielded significant, detectable levels of carbon-14 that would conventionally equate to only 30,000-45,000 years “ages” for the original trees.8 Similarly, a survey of the conventional radiocarbon journals resulted in more than forty examples of supposedly ancient organic materials, including limestones, that contained carbon-14, as reported by leading laboratories.9
Samples were then taken from ten different coal layers that, according to evolutionists, represent different time periods in the geologic column (Cenozoic, Mesozoic, and Paleozoic). The RATE group obtained these ten coal samples from the U.S. Department of Energy Coal Sample Bank, from samples collected from major coalfields across the United States. The chosen coal samples, which dated millions to hundreds of millions of years old based on standard evolution time estimates, all contained measurable amounts of 14C. In all cases, careful precautions were taken to eliminate any possibility of contamination from other sources. Samples, in all three “time periods”, displayed significant amounts of 14C. This is a significant discovery. Since the half-life of 14C is relatively short (5,730 years), there should be no detectable 14C left after about 100,000 years. The average 14C estimated age for all the layers from these three time periods was approximately 50,000 years. However, using a more realistic pre-Flood 14C /12C ratio reduces that age to about 5,000 years.
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These results indicate that the entire geologic column is less than 100,000 years old—and could be much younger. This confirms the Bible and challenges the evolutionary idea of long geologic ages.

Because the lifetime of C-14 is so brief, these AMS [Accelerator Mass Spectrometer] measurements pose an obvious challenge to the standard geological timescale that assigns millions to hundreds of millions of years to this part of the rock layer.10
Another noteworthy observation from the RATE group was the amount of 14C found in diamonds. Secular scientists have estimated the ages of diamonds to be millions to billions of years old using other radiometric dating methods. These methods are also based on questionable assumptions and are discussed elsewhere11. Because of their hardness, diamonds (the hardest known substance) are extremely resistant to contamination through chemical exchange. Since diamonds are considered to be so old by evolutionary standards, finding any 14C in them would be strong support for a recent creation.

The RATE group analyzed twelve diamond samples for possible carbon-14 content. Similar to the coal results, all twelve diamond samples contained detectable, but lower levels of 14C. These findings are powerful evidence that coal and diamonds cannot be the millions or billions of years old that evolutionists claim. Indeed, these RATE findings of detectable 14C in diamonds have been confirmed independently.12 Carbon-14 found in fossils at all layers of the geologic column, in coal and in diamonds, is evidence which confirms the biblical timescale of thousands of years and not billions.

Because of C-14’s short half-life, such a finding would argue that carbon and probably the entire physical earth as well must have a recent origin.13
Conclusion

All radiometric dating methods are based on assumptions about events that happened in the past. If the assumptions are accepted as true (as is typically done in the evolutionary dating processes), results can be biased toward a desired age. In the reported ages given in textbooks and other journals, these evolutionary assumptions have not been questioned, while results inconsistent with long ages have been censored. When the assumptions were evaluated and shown faulty, the results supported the biblical account of a global Flood and young earth. Christians should not be afraid of radiometric dating methods. Carbon-14 dating is really the friend of Christians, and it supports a young earth.

The RATE scientists are convinced that the popular idea attributed to geologist Charles Lyell from nearly two centuries ago, “The present is the key to the past,” is simply not valid for an earth history of millions or billions of years. An alternative interpretation of the carbon-14 data is that the earth experienced a global flood catastrophe which laid down most of the rock strata and fossils.... Whatever the source of the carbon-14, its presence in nearly every sample tested worldwide is a strong challenge to an ancient age. Carbon-14 data is now firmly on the side of the young-earth view of history.14
(下面中文使用谷歌翻译。需要修正和编辑。)
不碳-14测年推翻圣经吗？ 
由Mike Riddle September 20，2007 
门外汉 

作者为麦克-谜碳-14放射性测年率 
的特色 

浏览这个称号 
购买此称号 
科学家们使用一种叫做放射性测年估计岩石，化石的年龄，和地球。许多人都认为，导致放射性测年法证明了地球是几十亿年之久。这引起了教会的圣经创建帐户重新评估，特别是这个词的“日”的意义在创世记一多。与我们对一个放射性测碳测年特殊形式的重点，我们将看到，碳测年坚决支持年轻的地球。注意的是，一种普遍的误解相反，碳约会不是用在几百万年历史的岩石至今。 

基础知识 

在我们进入如何放射性测年方法的细节，取得成功使用，我们需要检讨从化学一些初步的概念。回想一下，原子是物质的基本组成部分。原子是由更小的粒子称为质子，中子和电子。质子和中子构成原子的中心（核），电子表格和围绕原子核的炮弹。 
对质子的原子核的数目决定的元素。例如，所有碳原子有6个质子，所有的氮原子有7个质子，所有的氧原子有8个质子。中子的原子核中的数目可以改变在任何特定类型的原子。所以，可能有六个碳原子中子，或七，八或可能，但是它总是有6个质子。一个“同位素”是一个元素，每一个有不同数量的中子数不同的任何形式。下图显示了碳三同位素。 
某些元素的同位素的一些不稳定，他们可以自发地到另一个原子的过程中的一种变化称为“。放射性衰变”由于这个过程目前在已知测得的速率发生，科学家尝试使用像“时钟”它告诉如何不久前岩石或化石形成的。有两个主要应用放射性测年。一个是潜在的约会化石（曾经生活的东西）使用碳十四测定，另一个约会石块和使用的铀，钾等放射性原子地球的年龄。 

原子数对应于原子中的质子数。原子的质量是质子和中子的原子核数字组合。 （这么多的电子打火机，他们不作出重大贡献的一个原子的质量。） 

碳-14测年 
碳14（14C的），也被称为放射性碳，声称是一个可靠的测年确定化石的年龄高达5万至6.0万年的方法。如果这种说法是真实的，一个年轻的地球（约6000年）圣经帐户有问题，14C测年以来的数万年日期常见的.
当一个科学家的解释数据不匹配中的圣经文本明确的含义，我们不应该重新解释圣经。上帝知道什么，他的意思是说，和他对科学的理解是万无一失的，而我们是犯错误。因此，我们不应该认为有必要修改他的话语。创世记第一天创造的定义是：（一用“天”的数目总是指在旧约正常的一天，一句“晚上和早晨”进一步定义为字面天天）字面天。因为圣经是神默示的话语，我们应该研究的几个问题问14C测年的标准解释的效力： 
是的，从经验数据的解释，科学观测所得，或者（历史学）过去事件的解释？ 
是否有任何假设的测年方法为何？ 
14C测年是与我们所观察所提供的日期一致？ 
是不是所有的科学家接受14C测年方法是可靠和准确的？ 
所有放射性测年方法的使用在目前的科学程序来解释了什么，在过去发生的事情。所使用的程序并不一定有问题。对过去事件的解释是有问题的。世俗的（进化）的世界观解释宇宙和世界上数十亿之久。圣经教导年轻的宇宙和地球。科学的世界观不支持哪些？可以碳14测年帮助解开这个谜，其中的世界观更准确？ 

对碳14测年的使用经常被误解。碳14主要用于更新一次生物（有机材料）。它不能直接使用最新的岩石，但它可能会被使用，例如钻石，把一些无机材料的时间限制（钻石可能含有碳14）。由于快速的14C的衰变率，只能给数千-的年范围的日期，而不是几百万。 
有三种不同的天然品种（同位素）的碳：12C条，碳，和14C。 
碳14是用于约会，因为它是不稳定（放射性），而12C和13C值是稳定的。 14C的放射性是指随着时间的推移将衰减（发出辐射），并成为一个不同的元素。在这个过程中（称为“β衰变”）在14C的原子中子会被转换成一个质子。因失去一个中子和一个质子获得，14C的改为氮- 14（的14N = 7个质子和7个中子）。 
   
如果14C的是不断衰减，最终将耗尽地球的14C？答案是否定的。碳14是不断被添加到大气中。来自外太空的宇宙射线，它含有高浓度的能量，撞击地球的上层大气。这些宇宙射线碰撞在大气中的原子，并可能导致他们来分开。从这些零星的中子，原子与原子碰撞的14N来（主要是由大气中的氮和氧）并将其转换成14C的原子（质子变成中子变化）他们。 
一旦14C的产生，它结合了大气中的氧气（14C和12C的行为就像还与氧结合），形成二氧化碳（CO2）。因为二氧化碳得到纳入植物（这是指我们吃的食物含有14C和12C的），所有的生物都应该当我们呼吸的空气中14C相同的比例，并在其中是12C。 

如何碳-14测年的过程工程 
一旦有生命的死亡，约会过程开始。只要是有生命的有机体长将继续采取14C的，但是，当它死了，它将会停止。既然是14C的放射性（衰变的14N）时，在一个死的14C生物量随着时间的推移变得越来越少。因此，约会的过程中涉及测量14C的金额后，剩下一些已经丢失（腐烂）。科学家们现在使用的设备称为“加速器质谱仪”（AMS）的决定中14C 12C的比例，从而增加了准确性承担约8.0万年。为了切实做好约会，其他的东西需要了解。两个这样的东西包括以下问题： 
14C的衰变有多快？ 
什么是在生物量中14C起，死时？ 
了放射性元素的衰变率描述的半衰期条款。半原子的生活是它的时间在一个样品中的原子衰变一半时间。半衰期为14C的生活是5730年。例如，在一个瓶子里的起始时间为零14C的原子都将包含在5730年（一个半衰期）14C的原子和结束一半一半的14N原子。截至一一四六〇年（二个半衰期）结束的jar将包含一个季度14C的原子和三个季度的14N原子。 
由于半衰期为14C的生命是已知的（有多快，衰变），唯一的部分，剩余部分，以确定是在一开始的数目14C的化石。如果科学家知道碳十四测定的生物死亡时，原来的金额，他们可以测量电流值，然后计算多少半衰期过去了。 

因为没有人在那里测量14C的数额时，一个生物死亡，科学家需要找到一个方法来确定有多少14C的衰变。要做到这一点，科学家使用了碳同位素主要称为碳12（12C）。由于12C的是碳的一种稳定同位素，它会保持不变，但是，对14C量将减少后的生物死亡。万物参与碳（14C和12C的）吃和呼吸。因此，在14C的众生以12C的比例将作为大气中的相同。这个比例原来是大约每1万亿14C的12C的原子原子。科学家可以利用这个比例，以帮助确定数额的14C开始。 
当一个生物体死亡，这个比例（1对1万亿年）将开始改变。对12C的金额将保持不变，但14C的金额会越来越少。比率越小，时间越长，机体已经死了。下图演示了如何使用的年龄估计这个比例。 
14C的剩余百分比百分比12C的剩余率的半衰期年死（化石年龄）号 
1T的100 100 0 0 1 
50 100 1到2T的1 5,730 
25 100 1到4吨2 11,460 
1至8吨100 12.5 3 17190 
1至16吨6.25 100 4 22920 
3.125 100 1至32刀5 28650 
T =万亿 
一个关键的假设 
一个关键的假设，在碳14测年使用，是因为有这个比例。这是假设的14C至12C的大气中的比例始终是相同的，因为它是今日（1对1万亿年）。如果这个假设是真的，那么本队14C测年方法是有效的高达约80000年。超过这个数目，科学家使用的工具将无法检测到足够的剩余14C的年龄估计将非常有用。这是在约会过程中的关键假设。如果这个假设是不正确的，那么该方法将给出不正确的日期。这是什么原因比率的变化？如果在大气中的14C的产率不等于去除率（主要是通过衰减），这个比例将发生变化。换句话说，在14C的大气中的数量必须等于被删除产生量要在稳定状态（也称为“均衡”）。如果这不是真实的，14C的比例，12C的不是一个常数，这将使知道量的14C开始标本难以或不可能准确地确定。 
威拉德博士利比的碳14测年法的创始人，假定这个比例保持不变。他的理由是基于对进化论的信仰，即假设地球一定是岁十亿美元。在科学界的假设是非常重要的。如果开始的假设是错误的，所有的假设基础上的计算可能是正确的，但仍然提供了错误的结论。 
在利比博士原来的工作，他指出，大气中并未处于平衡状态。这是一个令人不安的利比博士主意，因为他相信世界是老和足够的时间已经过去了数十亿年实现平衡。利比博士的计算表明，如果地球大气中没有与14C的开始，就需要长达30,000年建立一个稳定的状态（平衡）。 
如果宇宙辐射一直保持在其目前的20,000或30,000年的强度，如果没有碳储库在这段时间明显改变，那么，在目前存在之间的放射性碳原子的衰变率和完成率的平衡放射性碳原子的新同化中的所有生命周期.材料 利比博士选择忽视这种差异（非平衡状态），他归因于实验误差。但是，这种差异已经成为了非常真实的。中14C / 12C的比例是不固定。 
特定的生产速率（SPR的）的C14被称为是每分钟18.8每克总碳原子。在具体的衰变率（SDR）是已知的只有16.1衰变每克每分钟. 
这是什么意思？如果需要约30,000年才能达到平衡和14C仍然是出于平衡，则可能是地球不是很老。
 
地球磁场 
其他因素会影响大气中的14C的生产速度。地球周围有一个磁场，帮助保护国家免受有害辐射外层空间我们。这个磁场是腐烂（越来越弱）。越强场是围绕着地球，少的是能达到大气的宇宙射线数量。这将导致大气中的14C的小生产在地球的过去。 
对于长期的C14级长期变化的原因尚不清楚。部分的变化是肯定的，在宇宙射线的放射性碳产率变化的结果。宇宙射线通量，从而对C14生产速度，不仅是一个函数的太阳活动，但也是磁偶极矩的地球.
虽然复杂，这对地球磁场的历史同意巴恩斯的基本假设，该字段始终自由腐烂....该油田一直亏损，尽管其变化的能量，因此它不能超过10000年.
地球的磁场正在消失。今天，它是百分之十左右弱于它是当德国数学家卡尔弗里德里希高斯是在1845年开始饲养标签，科学家说.
如果大气中的14C的产率是过去少，给出的日期使用碳14的方法是错误地认为有更多的14C的衰变一个比实际发生了什么样了。这将导致给予比真实年龄大的日期。 

创世纪洪水 
什么样的作用可能创世纪洪水在队中的碳量？洪水会埋藏从（植物和动物）的大量生物碳，形成今天的（煤炭，石油等）的化石燃料。化石燃料的数量显示一定一直是存在的植被洪水之前，大大超过目前存在较大数量。这意味着，生物圈在洪水前的500倍，可能有更多的生活比现在的生物碳。这将进一步冲淡14C的数量和造成的14C/12C比值比现在少得多。 
如果是这样，这架C14是均匀分布在整个生物圈，生物圈和C总额的量分别为，例如，500倍，今天的世界，由此产生的C-14/C-12比例为1 / 500今天的水平....
当洪水是考虑到随着磁场的衰减，它是合理的，相信均衡假设是错误的假设。 
由于这种错误的假设，用14C的任何年龄估计在洪水之前，将给予比真实年龄老得多的日期。汛前材料将可能十倍月在其真实年龄。 

组的调查结果的速率 
在1997年的八年研究项目开始调查地球的年龄。该小组被称为RATE团体（同位素与地球的年龄）。科学家小组成员包括： 
拉里Vardiman，大气科学博士 
罗素堪，物理学博士 
尤金查芬，物理学博士 
约翰包姆加德纳，地球物理学博士 
唐纳德德扬，物理学博士 
史蒂芬奥斯汀，地质学博士 
安德鲁斯内灵，地质学博士 
史蒂芬博伊德博士希伯来和同源研究 
其目的是收集普遍忽视或约会的进化标准截尾数据。科学家们回顾了假设和估计的岩石和化石的年龄使用的程序。碳-14测年结果表明长期地质时代的严重问题。例如，传统的化石木月已根据他们的主人，从第三纪地层是二叠系系列样品（40​250万年前）取得了显着的一切，碳14检测水平，将传统只相当于30000-45,000年“年龄”为原树木.同样，传统的放射性碳期刊调查导致四十多人的例子据说古代的有机材料，包括灰岩，含有碳14的领先实验室报道， 样品，然后采取不同的煤，从十层，根据进化论，代表在地质列（新生代，中生代和古生代）不同的时间段。集团获得的速率从能量的煤样银行美国这十部煤样，来自美国各地的主要煤田采集样品。所选择的煤样，数以百万计的月标准为基础的演化时间估计数亿万年之久，包含所有的14C测数额。在所有情况下，认真采取预防措施，以消除任何其他来源的污染的可能性。样品，在所有三个“时间段”，展出了大量的14C。这是一个重大的发现。由于半衰期为14C的生活是相对较短（5730年），应该有大约10万年后，没有留下14C的探测。 14C的平均估计所有这三个时间段，从年龄层约5万年。但是，使用更现实的洪水前14C的/12C的比率降低，年龄约5000年。 

这些结果表明，整个地质列不足10岁，并且可以更年轻。这证实了圣经和挑战了漫长的地质时代进化的想法。 
由于对C14的寿命如此短暂，这些医疗辅助队[加速器质谱计]测量构成的标准地质时间尺度的分配到数亿年的数以百万计的岩石层.这部分明显的挑战 
另一位值得注意的速率组观察发现的钻石14C的金额。世俗的科学家们估计钻石的年龄，是要数十亿年之久使用其他放射性测年法百万美元。这些方法也是基于问题的假设，并讨论了别处。由于其硬度，钻石（已知最硬的物质）是通过化学交换十分耐污染。由于钻石被认为是这么老的进化标准，发现有任何14C的将是最近成立了一个强有力的支持。 
率团队分析了可能的碳14含量的十二个钻石样品。类似于煤的结果，所有十二个钻石样品中检出，但14C的较低水平。这些发现有力的证据，煤和钻石不能成为百万或岁那进化论者索赔数十亿年。事实上，在钻石检出率14C的这些研究结果已证实独立.碳在所有的地质层煤柱和钻石，在化石中发现14个，是证实了数十亿年，而不是几千圣经时间表。 
由于碳14的半衰期短，这样的发现会说，可能是碳和整个身体的地球以及必须有最近原产地.

结论 
所有放射性测年方法是基于有关事件，在过去发生的假设。如果假设为真接受（如通常在进化过程进行约会），其结果可以偏向理想的年龄。在教科书和其他期刊的报道给不同年龄，这些进化论的假设没有受到质疑，而与漫长的时间不一致的结果已被审查。当假设进行了评价，并显示故障，结果支持了一个全球性洪水和年轻地球圣经帐户。基督徒不应该害怕放射性测年方法。碳14测年是真正的基督徒的朋友，并支持年轻的地球。 
的速率科学家相信，由于流行的想法来自近两个世纪前地质学家查尔斯莱尔，“现在是对过去的钥匙”，根本不是一个百万甚至数十亿年地球历史有效。作者：碳14数据的另一种解释是，地球经历了一个全球性的洪水灾难，奠定了岩石地层和化石最....无论是碳14资料来源，它在几乎全世界每个样品测试的存在是一个强有力的挑战，一个古老的时代。碳-14数据现在坚定地对历史.年轻地球的观点方
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	Introduction
Is the prevalent view held by the majority of scientists the only plausible way of approaching the problems of time? If the Creation/Flood scenario as indicated by the Bible is correct, then any age significantly over 6000 years would have to be incorrect. Yet Potassium-Argon dates, for example, can easily go back to the time that evolutionists believe the earth began; 4,550,000,000 years ago (4.55 billion years). That is six orders of magnitude larger than what the Bible says Creation Week occurred! How can these dates be made to agree with each other?

The archeologist or scientist assumes that the date they receive is generally correct. However, dating mechanisms have their own set of assumptions that need to be realized. This page, Potassium-Argon Dating I, is dedicated to looking at the assumptions that are made in Potassium-Argon age determinations. The second page, Potassium-Argon Dating II, is dedicated to looking at what questions are needed so that a model can be suggested. Two field examples: the first in the Columbia River Basalts, the second in the Yellowstone Fossil Forest will be given as well. In both of these pages, a distinctly Creation/Flood perspective will be taken and the assumptions needed for what ever position taken will be discussed; However, the alternative assumptions held by long age scientists will also be included.

But first, I will discuss the basics of Potassium-Argon dating.


K/Ar dates the Rocks
Archeologists and scientists are dependent upon the use of dating methods to ascertain the approximate age of an artifact or ruin he or she finds. The age of fossils cannot be directly measured by the Potassium-Argon dating process. So instead, the rocks surrounding the fossil is dated. Their assumption that the fossil is the same age as the surrounding rock allows them to do this kind of data collecting. What they do is to take samples of the rock layers above and below where the fossil or specimen is located. Then these rock samples are dated. The researcher then assumes that the dates he or she gets are good minimum and maximum ages for the fossil.

The kinds of rock that this process is thought to work best with is various kinds of igneous rocks, volcanic rock and ash.

Biotite and hornblende give the best dates from an evolutionary perspective. Hornblende give the best date that agree with the evolutionary time scale, but biotite is much more abundant and can keep it's Argon under various weathering conditions. The following rocks which are igneous and/or metamorphic minerals, can also be dated by Potassium-Argon: Sanidine, anorthoclase, plagioclase, leucite, nepheline, muscovite, phlogopite, and lepidolite. Whole rock basalt (lava) and some report that ash can also be used. The only sedimentary rock which can be dated is glauconite, but the results are not always considered reliable by evolutionists.


What is Potassium 40?
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Potassium 40 (K 40) is one of three isotopes of Potassium (K) that is found in the earth's crust (see the graphic to the left or above). Both Potassium 39 and 41 are stable and accounts for 99.99% of all the Potassium found on the earth. Potassium 40, on the other hand, only accounts for 0.0117% of the earth's Potassium. K 40 is also radioactive, because it has odd numbers of both protons and neutrons in its nucleus.

K 40 has a half-life of 1.26 billion years, but when it breaks down, there are three possible ways that it can degrade. If a K 40 atom degrades by beta decay then a Calcium 40 atom is produced. However, if the degradation is by either electron capture or positron decay, then Argon 40 is produced. The beta decay is a faster process. For every 88.8 atoms that convert into a Ca 40, only 11.2 convert into Ar 40. The 88.2 to 11.2 is called the branching ratio.

It would seem that Calcium 40 would be the better product atom to track since almost 10 times of it is produced over Ar 40. However, there is a problem with Ca 40. Ca 40 is an extremely abundant atom found in various minerals. How would the Ca 40, that is naturally found in the rocks, be distinguished from the Calcium 40 that is produced by the breakdown of K 40? We would only want to measure the amount of Calcium 40 that is produced when K 40 is broken down, and not the natural Ca 40 in the rocks that would contaminate our measurements. This is a bad contamination problem so Ca 40 is not used in any dating calculations.

On the other hand, Argon 40 has just the right characteristics that would seem to make the Potassium40-Argon40 reaction useful to date various kinds of igneous rocks, volcanic rock and ash.
	


Hi,

From my experiences
described on this
page, I know that
Jesus is truly
coming back to
save us from this
angry and destructive world.
In addition, I have
found, much to my
delight, that science
within the creationary paradigm, works!

It is an exciting
thing to explore our
Biosphere from
a different perspective
than everyone else.
Often new possibilities are
realized when this
fresh new
perspective is explored.

And when I see
new explanations
to phenomena
that no one else
sees, because
I am working in
a new paradigm,
it is down right
exciting!

Mike Brown

 



The Potassium-40 Argon-40 Reaction
[image: image16.png]0-8D % ‘0b- ‘Op-1v

Potassium, Argon, and
Calcium Rate Changes

K+ e Z==FAr + v
WK=-TAr + Se + fv

9K &= 48Ca+ %e + gv

_ [Potassium 40 Calcium 40
g
H
8
ES
ES
g
S
o Argon 40

Time
Argon 40 accumulates in the rock. Naturally occuring Ar 40
is assumed to have escaped when the rock was hot.
Calcium 40 is produced in the rock but there is no way to
make any measurements of the accumulating Ca 40. Natu-
rally occuring Ca 40 would contaminate the measurements.
Potassium 40 is used up in the rock. It breaks down into
both Ar 40 & Ca 40.




Ar 40 is used for several reasons. First of all, Argon is inert. It does not chemically react with other elements at all. So Argon does not attach itself to the rock or any minerals in the rock. Secondly, Argon is usually a gas. These features are thought to allow any naturally occurring Argon from contaminating our measurements of the Argon 40 that is being produced from the radioactive decay of K 40.
When volcanic material flows over the land, the naturally occurring Argon gas is driven off by the excess heat. When the rock is molten hot, it is more liquid in texture, allowing the Argon gas to escape. If all the gas is driven off, then there should be no Argon left in the rock.

Once the rock cools and hardens, it is considered to be a closed system, because any new Ar 40 that is produced by the breakdown of K40 is trapped inside the rock crystal and cannot get out. So the scientist assumes that he or she is able to measure only that Ar 40 which is produced from K 40 since the rock has cooled. All the other Ar 40 was forced out of the rock by the heat.

By forcing out the naturally occurring Ar 40, the clock of the dating mechanism is reset or set to zero. Later, when we start discussing the K-Ar dating technique from a Creationary perspective, we will see that this reseting of the clock is a major issue. The clock might not always be reset by the heat in the Rock. There are other factors which might not allow the Argon to coming out of the rock as well.

An interesting point to make is that the Potassium-Argon process does not date the age of the rock. What it does, is to tell you how long ago the rock was reset, or set to zero. In addition, some rocks may have been reheated so that the clock was partially reset or fully reset at a later date. So if there are multiple heatings of the rock, the K-Ar dating process may give the researcher a number that is not what the researcher expects to find.

Another issue is atmospheric Argon 40. However, this contamination can easily be accounted for in the calculations. Since Argon 40 exists in the atmosphere, there is a possibility that rock samples could be contaminated with atmospheric Argon. Because the atmospheric Argon is a mix of three different isotopes of Argon: Ar-36 (0.337%), Ar-38 (0.063%), and Ar-40 (99.6%); Any contamination from the atmosphere would induce not only Ar-40, but also induce both Ar-36 and Ar-38 into the rock. Since there is more Ar-36 than Ar-38, the amount of Ar-36 is measured to determine the amount of atmospheric Argon that is inserted in the rock. The ratio of Ar-40 / Ar-36 = 295.5: So this factor can be used to estimate the amount of Argon 40 that has come into the rock via Atmospheric contamination.


Limitations of the Historical Sciences
In any kind of a historical science, assumptions have to be made in the assessing of historical dates. Because it is assumed that man, for example, has ascended over a long period of time, researchers would automatically want to lengthen the amount of time indicated by the artifacts uncovered in archeological digs. They are looking for answers that would fit their present model. I am not trying to say that they are falsifying their data. On the contrary they wouldn't need to falsify anything. Historical data can be so inconclusive that a host of positions is possible from almost any set of data that is collected.

Man is thought to have progressed through a long period of prehistory (cave man's experience) before some sort of civilization is started. Only after civilization begins can we begin to gather some sort of data from the discovery of the artifacts that are found (Pieces of pottery, etc.). The artifacts according to today's traditional thinking should be slowly progressing in complexity as it is thought that man is progressing in his abilities and ideas that he uses.

If man is thought to have progressed over long periods of time, even within the later civilization phase of his existence, than surely as the artifacts are recovered from archaeological sites, the theories and ideas developed will reflect the scientist's own original thinking. This is how science normally works. They normally work within a fairly well defined set of theories that have become a paradigm. A paradigm is a theory that is so well accepted that no one seriously questions it. This way of doing science is most prominent when the evidence is fragmentary at best.

Assumptions throughout the scientific process are extremely important because they must hold the facts together. Only when specific data comes that either substantiates or falsifies the previously held assumption, can it be known if the thinking was originally correct. Unfortunately, with fragmentary data, the artifact that might falsify a theory is extremely hard in coming or it could easily be overlooked. So the problem must be solved by a host of assumptions that will probably never be tested.

There is also the danger that good data could be thrown out because it doesn't fit with established thinking. For instance, I am told that there are sometimes found in the same level both "early" forms and "modern" forms of man. Because of what is considered to be an impossibility, the modern forms are assumed to have been examples of intrusions. The modern form is considered to have been buried much later in spite of the fact that the specimens are found in the same level.

The areas of science, which are the most successful, which the public notices, are the amazing discoveries in medicine, biology, space exploration, and the like. These are the areas that deal with the here and now. If an experiment is conducted and the information needed to answer the problem is not forthcoming, then another experiment can be designed to answer the problem. The process can continue until some answer to the problem is understood. The problem is only limited by money, ingenuity, and the technical difficulties that have to be surmounted.

In addition to the above limitations of science, historical science is limited by the fragmentary nature of the artifacts it is able to find. In effect, the accuracy of ideas is limited by the assumptions chosen by the researchers.


K-Ar Dating is based on Assumptions
K-Ar dating is not based on irrefutable data alone. It has as its basis of understanding, various assumptions which concern the conditions of the Earth for hundreds of millions of years. These assumptions were originated within an atmosphere of long age preexisting ideas. Scientists almost never look for indicators in nature that might speak of a very young age for the world's history. Why would they? Most scientists do not believe that the short chronology of the Bible has any validity at all and most would consider it counterproductive to pursue such a course of investigation. If in fact such an answer were found, it would be quickly dismissed. It would be assumed that there was something wrong with the idea or the data, and a new scenario would be sought.

Some papers give evidence of presenting filtered data. What is meant by filtered data, is that they only present the data that agrees with evolutionary thinking. The other data is eliminated. A very good example of this kind of filtering is a paper by Evernden JF, Savage DE, Curtis GH, James GT: Potassium-argon dating and the Cenozoic mammalian chronology of North America. Am J Sci 1964;22:145-98. This paper is now considered to be a classic paper.

On pages 171-174 they discuss why all but one potassium/argon date for the Rusinga Island bioites was discarded. Yet they use biotite in an uncritical manor in other areas where the dates they obtained matched their expectations. On Page 174, we can also note: "Unfortunately many of the samples that passed field inspection for suitability and were laboriously collected, later proved unsuitable for dating. . . . Thus, of some 65 samples collected by M. Skinner, only 10 could be used." Other creationists such as Paul Giem (in his book, Scientific Theology see references below), have thought: "It might have been interesting to know why such samples proved unsuitable for dating, and what their potassium/argon dates were."

The degree at which the data was filtered may be even greater than just reporting 1/6 of the data they collected. Sometimes the whole rock basalt date is reported, but sometimes only a mineral fraction is reported from the basalt, like biotite or sanidine. Why is it that one type of date is used one time and not at another time, is not discussed in the paper. As Paul Giem notes: "If there are three mineral fractions per basalt sample, there are four different possible dates for that sample. Thus one could pick the dates that fit one's expectations and create a very impressive list of dates with close agreement without there being more than a general correlation of most dates with one's expectations."

It is amazing that a paper that only reports 1/6 of the data, is also considered to be a classic paper. Paul notes: "It is interesting to speculate what would happen if an article in chemistry or medicine were submitted with perhaps 1/6 of the data reported."

It should be remembered that these researchers are not being dishonest in their actions. They think of the long age scenario of evolution as being fact. They do not believe that there is any alternative way to look at history. Period! So when the data does not come out right, it is only natural that they assume that there is something wrong with the dates that do not fit the long age viewpoint.

However, when they turn around and say that the data supports the evolutionary viewpoint and not the Creationary viewpoint. This is not right! The data does not support long ages. So, many people try to say something like: the weight of evidence proves evolution; or, all the data supports evolution. But this is not true either, the weight of evidence does not prove anything. We do not have an issue of weight of evidence. Rather, what we have is weight of interpretation!

This controversy is not over data. The data can go either way. Very intelligent people believe in the long history of the earth and they have good data to support them. There is no question about it. However, I look at that same data and I come to very different conclusions. This process is legitimate! There is such a thing as multiple interpretation to the data base. There is no proof for either position.


The Assumptions used in K-Ar Dating
On this web page I want to discuss a possible scenario that would allow K-Ar dates to indicate a short age chronology. Such a discussion might never be allowed in normal scientific circles because of the assumptions they choose to believe as being true. There is such a strong consensus of opinion on K-Ar dating and other similar topics that deal with the history of the Earth that alternative viewpoints are probably viewed as being counterproductive.

Before we start, lets look at the specific K-Ar dating assumptions.

1. The rate of decay (half-life), and the branching ratio, of K-40 have not changed.

2. The material in question lost all its argon at an identifiable time, the reset time.

3. No argon has been lost since the time the rock was reset, or set to zero.

4. No argon except atmospheric argon, with today's Ar-40 / Ar-36 ratio, has been gained since the reset time of the rock.

5. No potassium has been gained or lost since the reset time, except by decay.

6. The ratio of K-40 to total K is constant.

7. The total K, Ar-40, and Ar-36 in the material in question can all be measured accurately.

The seventh assumption is one that scientists are doing their best to fulfill. We should also be able to safely make this assumption.

The sixth assumption is also fairly secure. When the concentrations of the various K isotopes are measured, the results are always the same.

The fifth assumption is fairly safe. There are some cases where K has been gained or lost; However, the mineral itself has been noticeably altered.

The fourth assumption is probably satisfied for most samples. However, this is an assumption that could be challenged. If the rock was heated in the presence of Argon from the earth's mantle, or perhaps in some primordial Argon which might have had a higher concentration of Ar 36; we might have problems making this assumption.

According to most texts on Potassium-Argon dating, the third assumption is fairly commonly violated. Metamorphism, weathering, and reheating are some of the processes that are mentioned to cause a loss of Argon in the crystal of a rock. Most sedimentary rocks are thought to lose Argon because the crystal structure leaks Argon. A loss of Argon would cause the rock to date younger than it should according to evolutionary thought. This is probably the assumption that scientists make when they choose to present filtered data in a scientific paper. They see the young dates as those samples that have lost Argon. It is an assumption that they probably view as having no alternatives, yet if this same issue was ever pursued, it might uncover other possibilities suggesting a short age time scenario.

Another possibility is that the second assumption is being violated rather than the third. Some samples will not be fully reset, initially. Thus these rocks give a date which is older than what normally would happen if the rocks were fully reset. These older dating rocks give the kind of dates as expected by the scientific community. On the other hand, those rocks that date younger, would not need to have had Argon leak from the crystal after the time when the reseting process occurs. Instead, the rock was probably more completely reset when it was molten. This means that there was less Argon in the rocks to begin with, because the younger dating rocks were more fully set to zero in the reseting process.

The second assumption sounds logical at first. Many text books say it is self-evident. Dalrymple states: (Dalrymple GB: The Age of the Earth. Stanford University Press, 1991 p. 91) "The K-Ar method is the only decay scheme that can be used with little or no concern for the initial presence of the daughter isotope. This is because Ar 40 is an inert gas that does not combine chemically with any other element and so escapes easily from rocks when they are heated. Thus, while a rock is molten the Ar 40 formed by the decay of K 40 escapes from the liquid."

There are reasons and evidences for challenging the second assumption. you can be sure that we will discuss this topic some more later.

The first assumption is often challenged by some creationists. They think that the radioactivity could have speeded up during the flood producing dates with long ages. But there is no known mechanism to explain or predict the increased rate of radioactivity. However there may be a new development in the field of nuclear reactions that could change this situation. People around the world are working on active "Cold Fusion" reactions. There is another group that has been conducting experiments for the express purpose of speeding up the transmutation process thus changing the half-life characteristics of radioactive materials.

Some of these reactions occur under admittedly extremely mild conditions, However, it is another question to suppose that these newly discovered processes can occur or did occur in natural conditions, in the history of our world. Dating mechanisms such as Carbon-14, work within the creationary paradigm without the need of having a change in half-lives. So since the time of the flood, there is no evidence that there has been any change in half-lives of radioactive materials.

On the other hand, It is possible that the creation event could have caused changes in the half-lives of nuclides. For more on Cold Fusion and the creation event click on Extinct Nuclides.

The majority of the fossils are found in the phanerozoic (from Cambrian up to the Pleistocene) layers of the Geologic column. This includes the Paleozoic, Mesozoic, and Cenozoic layers. These are considered by most Creationists to have been laid down during the time of the flood. It is possible that the sedimentary layers in the upper Precambrian are also flood deposits (See my Geology page). So the volcanic rock and ash within these layers would have been been produced during the flood event. Only the rocks in the precambrian layers could have been affected by the creation event. Everything else would have been redeposited or re-melted in the global flood.

简介 

普遍的观点是由大多数科学家的唯一接近时间的问题的可行办法举行？如果创建/洪水方案经圣经指示是正确的，那么任何年龄大大超过6000年数将是不正确的。然而，钾氩日期，例如，可以轻松地回到时间进化论者相信地球开始;四五五零零零零零零零年前（4.55亿年）。这是6个数量级大于圣经所说的一周的创作发生了订单！这些日期如何才能作出同意对方？ 

考古学家或科学家假设他们收到的日期一般是正确的。然而，约会的机制有自己的设想得以实现，需要自己的一套。这页，钾氩测年我，是奉献给了在钾氩年龄测定的假设寻找。第二页，钾氩测年第二，是专门为需要在哪些问题，以便提出一个模型可以看。两个外地的例子：在哥伦比亚河玄武岩第一，第二黄石化石森林将被指定为良好。在这些网页上两个，一个明显的创作/洪水观点将采取和将采取的立场，什么都需要讨论的假设，但是，科学家们通过长期持有的年龄替代假设也将包括在内。 

但首先，我将讨论钾氩测年的基础知识。 


的K / AR日期的岩石 

考古学家和科学家在约会的方法来确定一个神器大致年龄或破坏他或她找到依赖。化石的年龄不能直接测量的钾氩测年的过程。因此，取而代之的是，化石周围的岩石是过时了。他们的假设，化石的年龄一样，围岩允许他们做这样的一种数据采集。他们做的，上面和下面的岩石的化石所在层或标本样品。然后，这些岩石样品的日期。研究人员然后假定他或她得到的日期是很好的最低和最高年龄为化石。 

岩石的，这一过程被认为是种最好的工作是火成岩，火山岩和火山灰各种。 

黑云母，角闪石从进化的角度提供最佳的日期。角闪石给出最佳的约会，随着进化的时间尺度同意，但黑云母更丰富，能保持在各种风化条件下的氩气。下面的岩石是火成岩和/或变质矿物也可以由钾氩日期：透长石，歪长石，斜长石，白榴石，霞石，白云母，金云母，锂云母和。全岩玄武岩（熔岩）和一些灰也可用于报告。唯一的沉积岩石，可追溯到是海绿石，但结果并不总是认为进化论者可靠。 


什么是钾40？ 


钾40（金40）是三个同位素钾（K），在地壳中发现（见图表向左或以上）之一。 39和41两个钾稳定和99.99％，占所有钾在地球上发现。钾40，另一方面，为0.0117地球的仅占钾％。 K表40是具有放射性的，因为它有两个质子和中子，这种原子核中奇数。 

K表40拥有十二点六〇亿年半衰期，但是当它发生故障时，有三种可能的方法，它可以降低。如果一个K 40则钙40原子产生β衰变原子下降。但是，如果任何一方的退化或正电子衰变电子捕获然后氩40是生产，是。在β衰变是更快的进程。每到一88.8原子钙40转换，转换成只有11.2氩40。在88.2至11.2，是所谓的分支比。 

看来，钙40将是更好的产品，因为几乎原子追踪超过10年的IT生产的氩气40倍。然而，有一个问题与Ca 40。钙40原子是一个极为丰富的各种矿物质。如何将钙40，这是自然的岩石中发现，从40个是由钙的K故障产生的40个区别？我们只会想衡量钙产生40个当K 40是分解量，而不是在岩石会污染我们的测量天然钙40。这是一个坏的污染问题，所以钙40年代没有任何计算中使用。 

另一方面，氩气40刚刚有权特征似乎使Potassium40 - Argon40反应有用的日期岩浆岩，火山岩和火山灰各种。 


嗨， 

从我的经验 
这说明 
一页，我知道 
耶稣是真 
回来 
为此我们拯救 
愤怒的和破坏性的世界。 
此外，我 
发现，令我 
高兴的是，认为科学 
在创造性的典范，作品！ 

这是一个激动人心 
探索我们的事 
从生物圈 
不同的角度 
比其他人。 
常新的可能性 
当意识到这 
全新 
角度进行了探索。 

当我看到 
新的解释 
以现象 
没人 
看到，因为 
我在工作中 
一个新的模式， 
它是降权 
精彩！ 

迈克布朗 

  


钾- 40氩- 40反应 


氩气40几个原因。首先，氩气是惰性。它不与其他元素化学反应的。因此，氩气本身并不重视对岩石或岩石中的任何矿物。其次，通常是氩气。这些特点被认为是允许从污染的40个氩正在从K的放射性衰变产生的40个测量任何自然发生的氩气。 

当火山物质对土地流动，自然产生的氩气赶走了多余的热量。当熔化的岩石是热的，它是更多的液体质地，使氩气逃跑。如果所有的气体赶走，那么应该在岩石中没有氩气。 

当岩石冷却后变硬，它被认为是一个封闭的系统，因为任何新的氩气40个是由K40故障产生的被困在水晶石，无法脱身。因此，科学家假定他或她能够测量40只氩这是因为从K 40产生的岩石已经冷却。所有其他氩40被迫出的热岩石。 

通过迫使出天然氩40，单身一族的机制时钟复位或设置为零。后来，当我们开始从一个创造性的角度讨论了K - Ar定年技术，我们将看到，这种时钟reseting是一个重大问题。时钟可能并不总是复位在岩石的热量。还有其他一些因素可能不允许的氩气来的岩石进行的很好。 

一个有趣的一点是，该钾氩过程并不日期岩石的年龄。它做什么，是要告诉你多久前的岩石被重置，或设置为零。此外，一些岩石可能已被加热，使时钟被部分或全部重置在日后重置。因此，如果有多个预热的岩石的K - Ar定年的研究过程可能给一个数字，不是研究者希望找到。 

另一个问题是大气氩40。但是，这种污染可以很容易地计算在计算。由于大气中氩40的存在，有人认为可能是岩石样品与大气氩污染的可能性。由于大气中氩气是三个不同的氩同位素的混合物：氩- 36（0.337％），氩- 38（0.063％）和Ar - 40（99.6％），任何对大气污染不仅会引起氩40，但也促使双方在岩石的Ar - 36和Ar - 38。由于有更多的Ar - 36比的Ar - 38，氩- 36金额为确定大气氩量是插在岩石上。的AR - 40 /氩36 = 295.5比：所以这个因素可以用来估计40氩量已进入大气污染通过岩石来。 



历史科学的局限性 

在任何一个历史学类，假设要在历史的日期作出评估。因为它是假设的人，例如，拥有相当长的时间内上升，研究人员希望将自动延长由考古发掘中发现的文物显示时间。他们正在寻找适合自己的答案，将目前的模式。我不是说他们是伪造的数据。相反，他们就不再需要任何伪造。历史数据可以如此定论，一个主机的位置可能从几乎任何数据集的收集。 

人是有进步的思​​想，通过对史前（洞穴人的经验）长时间才一些文明的排序已启动。只有在文明的开始，我们才能开始收集从找到的文物发现一些类型的数据（件陶器，等）。根据今天的文物的传统思维应该是缓慢进展的复杂性，因为它是认为人类是在他的能力和想法，他用进展。 

如果人被认为是有进步了很长一段时间，甚至在他的存在后来的文明阶段，比毫无疑问，从文物考古遗址，理论和发展将反映科学家的独创思想观念收回。这就是科学的一般工作。他们通常工作在一个相当明确的，这已经成为一种范式理论集。一个范例是一个非常广泛接受，没有一人伤势严重的问题是理论。这种做法的科学方法是最突出的是零散的证据时，最好。 

整个过程的科学假设是极其重要的，因为他们必须持有的事实一起。只有当具体的数据来证实或伪造，要么以前举行的假设，能不能知道如果最初的想法是正确的。不幸的是，零碎的数据，伪造一个神器，可能在未来的理论是非常辛苦，也可能很容易被忽视。因此，这个问题必须解决一系列的假设主机可能永远不会被测试。 

也有良好的数据可能被抛出，因为它不符合既定思维的危险。举例来说，据我所知，有有时甚至在同一水平既“早”形式和“现代”人的形式找到。因为什么被认为是不可能的，现代的形式被假定为有被入侵的例子。现代的形式被认为已被埋葬在晚得多的标本保存在同一水平发现尽管。 

科学的领域，这是最成功的，其中，公告是在医学，生物学，空间探索的惊人发现，等等。这些领域，与此时此地交易。如果进行一个实验，需要回答问题的信息不到位，那么可以设计一个实验来回答这个问题。这个过程可以持续到一些问题的答案是理解的。问题是只受金钱，独创性，并认为有技术上的困难有待克服。 

除了上述限制的科学，历史科学是有限的文物是能够找到零碎的性质。实际上，思想的准确性是有限的由研究人员选择的假设。 



K - Ar定是基于假设 

K - Ar定并非基于确凿的数据单。它作为自己的理解，不同的假设基础上的关切了数亿年的地球上的条件。这些假设是起源于一个已经存在的想法长龄的气氛。科学家们几乎从来没有在自然界寻找指标，可以讲一个为世界历史上一个非常年轻的年龄。为什么会这样呢？大多数科学家不相信圣经的短年表已在所有的有效性和大多数人会认为这是适得其反追求这样的调查过程。如果事实上这样的回答被发现，它会很快被驳回。这将是假设有什么事的想法或数据错误，一个新情况是追捧。 

一些论文提交给过滤数据的证据。什么是过滤数据的意思，是他们目前唯一的数据与进化的思想一致。其他数据被淘汰。这种过滤一个很好的例子是一种由Evernden樱，萨维奇德，柯蒂斯生长激素，詹姆斯GT的文件：钾氩测年和北美新生代哺乳动物年表。上午Ĵ科学1964; 22:145-98。本文是现在被认为是一个经典论文。 

171-174页上讨论为什么他们所有，但为Rusinga岛bioites一钾/氩日期被丢弃。然而，他们用在一个不加批判的庄园在那里的日期，他们获得他们的期望相匹配其他地区黑云母。在174页，我们还可以注意到：。。。。“不幸的是，对于适合通过现场检查，并辛苦收集的样本很多，后来证明不适合约会因此，由M.斯金纳搜集了一些65个样本中，只有10可被使用。“如保罗Giem（在他的书中，科学神学见下文引用）其他创造论，以为：“这可能是有趣的知道为什么这些样本证明不适合约会，以及他们的钾/氩日期了。” 

在该数据被过滤的程度可能比刚才汇报的1 / 6，他们收集更多的数据。有时，全岩玄武岩日期为报道，但有时只有一小部分是从矿物如黑云母或透长石玄武岩，报道。为什么一个日期类型是使用一次，而不是在其他时间，是不是进行了讨论。如保罗Giem指出：“如果有三个，每玄武岩样品的矿物组分，有四个不同的，样本的可能日期因此，人们可以选择的日期，适合一个人的期望，创造一个没有议事的日期非常令人印象深刻的，密切的协议清单。超过日期与大多数人的期望一般的关系。“ 

令人吃惊的是一份文件，只报告1 / 6的数据，也被认为是一个经典论文。保罗指出：“这是有趣的推测会发生什么，如果在化学或医学文章也许是与1 / 6的数据提交报告。” 

应该记住，这些研究人员在他们的行动没有不诚实。他们认为在漫长的演变年龄是事实的情况。他们不相信有任何其他的方式来看待历史。期！所以，当数据不出来的权利，这是很自然，他们认为有一些东西是的日期不适合长龄观点错误的。 

然而，当他们转身说，该数据支持了进化的观点，而不是创造性的观点。这是不对的！这些数据不支持长年龄。因此，许多人尝试这样说：大量证据证明演化，或者，所有的数据支持的演变。但事实并非如此之一的，重证据并不能证明什么。我们没有证据的体重问题。相反，我们所拥有的解释的重量！ 

这场争论还没有结束的数据。这些数据可以会有两种结果。很聪明的人相信，在地球漫长的历史，他们有良好的数据支持。这是毫无疑问的。不过，我看同样的数据，我前来非常不同的结论。这个过程是合法的！有这样一个为多个解释给数据库的事情。要么是没有地位的证明。 


在K - Ar定所采用的假设 

在这个网页，我想讨论一个可能的方案，允许的K - Ar同位素年龄表示很短的时间顺序。这样的讨论可能永远不会被允许在他们的假设，因为选择相信为真正常的科学界。有这样一对K - Ar和其他类似的约会主题舆论的强烈共识，随着地球历史的协议，为不同的观点可能被视为适得其反。 

在我们开始之前，让我们在特定的K - Ar定年的假设看。 

在衰变（半衰期）和分支比的K - 40，速率没有改变。 
所涉及的材料失去了可识别的时间，复位时间所有的氩气。 
氩气一直没有丢失，因为当时的岩石被重置，或设置为零。 
除大气氩氩没有今天的AR - 40 /氩- 36的比例，一直以来所取得的岩石复位时间。 
无钾已经获得或丢失，因为复位时间，除由衰变。 
的K - 40全钾的比例是不变的。 
总钾，氩40，氩气在36个有问题的资料都可以精确测量。 
第七假设是，科学家正在尽最大努力履行。我们也应该能够安全地使这一假设。 

第六假设也相当安全。当有多种K同位素的浓度进行测量，结果总是一样的。 

第五个假设是相当安全。其中K有一些已经获得或丢失的情况;不过，矿物本身已经明显改变。 

第四个假设是可能满足了大部分样本。然而，这是一个能挑战假设。如果岩石是在氩从地球的地幔存在加热，或者在一些原始的氩气，可能产生了高浓度氩36，我们可能会出现问题使这一假设。 

据对钾氩测年大部分文本，第三个假设是相当常见的侵犯。变质，风化，再加热都是提到的原因是在一个水晶的氩损失一些进程。大多数沉积岩被认为是因为失去氩氩气泄漏的晶体结构。阿氩损失将导致年轻的岩石至今比它应该按照进化的思想。这可能是假设，科学家做出选择时，他们以一种科学论文筛选的数据。他们认为，那些已经失去氩样品的年轻日期。这是一个假设，即他们可能认为有没有其他选择，但如果同样的问题是永远追求，暗示它可能会发现很短的时间情况下年龄的其他可能性。 

另一种可能性是，第二个假设是被侵犯，而不是第三。部分样本不会完全复位，最初。因此，这些岩石给出具体日期是早于通常会发生什么，如果岩石完全复位。这些年纪较大的岩石给定的日期，一种像由科学界的预期。另一方面，那些年轻的岩石之日起，就不需要有从晶体后的时候重新过程中发生氩泄漏。相反，岩石可能是更完全复位当它被熔化。这意味着，没有太多的岩石中的氩气首先，因为年轻约会岩石更充分地设置为零的重新进程。 

第二个假设听起来合乎逻辑，在第一。许多课本说，这是不言而喻的。达尔林普尔国家：（达尔林普尔国标：地球的年龄斯坦福大学出版社，1991年第91页。）“的K - Ar法是唯一的衰变纲图，可以与没有或很少关心用于同位素初始存在的女儿。这是因为40氩气是一种惰性，不与任何其他组合化学元素，因此很容易从岩石逃离时，被加热。因此，当一块石头被熔化的Ar 40 K的40逃出的衰变形成液体。“ 

有挑战的原因和第二个假设的证据。你可以肯定，我们将讨论这个主题的一些更详细说明。 

第一个假设是由一些经常挑战创。他们认为，放射性物质可能会加快生产过程中与洪水漫长的时间日期。但有没有知道的机制来解释或预测放射性比率增加。但是有可能是在核反应，可能会改变这种局面领域的新发展。世界各地的人们正在积极“冷聚变”反应。还有另一组已进行了加快嬗变过程从而改变材料的放射性半衰期特点明确目的的实验。 

这些反应有些固然非常温和的条件下发生的，但是，它是另外一个问题的假设，这些新发现的过程中确实发生或可能发生的自然条件，在我们这个世界的历史。约会的机制，如碳14，在创造性的工作模式，而无须在半衰期需要改变。因此，由于洪水的时候，没有迹象表明有任何的半衰期放射性物质生活变化的证据。 

另一方面，它可能是建立在事件可能造成的半衰期核素的生活变化。第12期冷融合与创造活动的灭绝核素点击一下。 

大多数的化石被发现在显生宙（从寒武纪到更新世）的地质层列。这包括古生代，中生代和新生代层。这些被认为是由已奠定了洪水期间，大部分时间下跌创造论。这可能是前寒武纪的沉积层上也洪水存款（见我的地质页）。因此，火山岩和火山灰将这些层内已被洪水过程中产生的事件。只有在岩前寒武纪层可能受到影响的创建活动。一切本来再沉积或重新在全球泛滥融化。 
Clocks in the Rocks

The following radioactive decay processes have proven particularly useful inradioactive dating for geologic processes:
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Lead isochrons are also an important radioactive dating process.

Note that uranium-238 and uranium-235 give rise to two of the natural radioactive series, but rubidium-87 and potassium-40 do not give rise to series. They each stop with a single daughter product which is stable.

	Parent isotope
(radioactive)
	Daughter isotope
(stable)
	Half-life
(Gy)
	Decay constant
(10-11yr-1)

	40K
	40Ar*
	1.25
	5.81

	87Rb
	87Sr
	48.8
	1.42

	147Sm
	143Nd
	106
	0.654

	176Lu
	176Hf
	35.9
	1.93

	187Re
	187Os
	43
	1.612

	232Th
	208Pb
	14
	4.948

	235U
	207Pb
	0.704
	98.485

	238U
	206Pb
	4.47
	15.5125



This data is reproduced from Dalrymple, The Age of the Earth

* Note that 40K also decays to 40Ca with a decay constant of 4.962 x 10-10yr-1, but that decay is not used for dating. The half-life is for the parent isotope and so includes both decays.

Dalrymple's summary of isotopes is that there are 339 isotopes of 84 elements found in nature. Of those isotopes, 269 are stable and 70 are radioactive. Eighteen of the radioactive elements have long enough half-lives to have survived since the beginning of the solar system. The table above includes the main isotopes used for age studies.

时钟在岩石

下面的放射性衰变过程已证明特别有用的地质过程中的放射性定年：铅等时线也是一个重要的放射性年代测定的过程。
请注意，铀-238和铀-235产生的天然放射性双节，但铷- 87和钾​​40不引起系列。他们每到一站用一个女儿产品是稳定的。

家长同位素  女儿同位素

半衰期

衰减常数
（放射性）
（稳定）

（亿年）    （10-11 yr- 1）
40K


40Ar*


1.25


5.81
87Rb


87Sr


48.8


1.42
147Sm

143Nd

106


0.654
176Lu


176Hf


35.9


1.93
187Re

187Os

43


1.612
232钍


208Pb

14


4.948
铀-235

207Pb

0.704

98.485
铀-238

206Pb

4.47


15.5125

这个数据是从达尔林普尔，地球的年龄转载
*请注意，40K的也衰减到40Ca与衰变4.962× 10-10 yr-1的常数，但不适合约会衰变使用。半衰期同位素是为父母，所以包括衰变。

达尔林普尔的同位素的总结是，目前339在自然界中发现84个元素的同位素。这些同位素，269和70是稳定的放射性。十八的放射性元素有足够长的半衰期有自太阳系开始活了下来。上述表格，包括年龄研究中使用的主要同位素。
